PROFIL PODLUZNY - ODCINEK 2A SKALA 1

100/1000

LEGENDA:

istniejgcy teren

projektowany teren

=|
F

zjazd lewy

zjazd prawy

skrzyzowanie

row prawy
row lewy

147.50

145.00

142.50

F_Ammﬁ AN '70) 6822851 AN VNNIRD V90U Z AINVAOZAZDNS

I

90T N Za VN AZVIZ

Q0T (AN Zd VN (ZveZ

4812 UN 74 VN (ZVIZ

701¢ N Z0 VN (ZVIZ

—._ L1 ON 20 VN QZVEZ

601c [UN Za VN (ZvrZ

—”TENJE 0 VN TINTZ

[

— POTe UN 70 VN (IVEZ

012 [UN "Zd VN (ZveZ

I

1012 [AN 20 VN QZvrZ

—._ u1¢ AN "Z0 VN (ZNTZ

001c [N Z0 VN QZVrz

I

660¢ dN "Z0 VN (ZVIZ

— J9re W 70 VN Q&TZ

9602 (! 8602 AN "Z0 VN QZVr

4602 |UN °Z0 VN QZVIZ

/

|

—_ae. UN "70) 9629551 AN VANIRD V904 &,EEOE%

,_
,

,

,

147.50

145.00

142.50

z
L g
= =1 D
s 2 < ;
© S g & G & g
< N - a o o
S SEQ 3 8l B % -
oo | W = A % . .
SNEg | m @ — 2
== 20 7iz, |3
] e o]
o B 00 =] | §RED ! i
© pu—( S&Hv | @) = « .5 < —~ = m
0.2 L oY EfE2 | & | o s | |8
o S5 S & &b I~ £| o ~
5 N D) S < ~ N
ez ~ = O [e] <
vl O O] |28 £ T o S <3
5% N —-5 O X 5] X = <0
<P 2 = o523 < = 0
25 | X ST A s g ol 00 0=
t 5 =] b N c o}
9 = [} = Olo —
010 2| £ 5| |2 Fag T = N e |
= 5o 2 | |ESBET || 8 [=F 2| |8
d oL AWn e S m & N | I %7 < > MW
c Rr5 S| >— s N @2 _ = E > Sa o
ol <. ==&« " = N NS c®o
o = fgy= TS558 | 2 oL § DRSS
59|5 ol 2 &K — = < x| 2 SSlL | Nw
RSB =5 |f|EEwQ Z | [09%|E 5 lg |e5pl 8=
9 g E82E |2 E| TSR ol2lrYRECL] <
<| D Woreami Nl | alelz|l .2l .= &
N zsezf |5 B |5lv |2|™ ZE| Mo N[ NS 5
gln < Bwew Y ¢ BE|2<3 g E |NE| T2 =0
2> |Z| At EN |Z 2812|5028 5o F] 5.
o] = = AL < © ()] (o))
o 108l |5 A W%MNNPWW mwyw c e
o
]
¥ 2
— g0 6S°IPL (62l [1LSB+O0 ge
g™
- "o}
— & [se0  1vowL [ezwL {Ll1gB+0 mNELmé_
4| : : 4yet x
— | (B3 |0 (B (B e
| gr : ; $14 04
o (%8 (8THH 8GR gl
d i
———  |ero  {scwt tezwl  {Lgs+0 {elLiseal
— 1 fev0  [sfel ISPl |0°96@+0 Q
o
P
F
W0 8Ll  LS'IWL 1582840 [8Lv'828
2
<
._..r
| 168 1ZRABL rebIEL {84181 {cisae N
_ €60  |=bl [6¥lyl [LSIE+0 &
I 70 {vewl howl  {ueo | seouigl®
0 (4L (Zehl (96080 [228'60y
Q.
o ©o
080 9EibL (oglvl {£008+0 [682°C08F 1
Q
0
[~} <+
g i
1
w 120 {Zepl (89Kl {S28L40
B |¥co  |dewl [6alvl |Z:08L+0
S [vz0  feewl (69’4l |LBLLHO |vhLBLL
dlezo  {vE1L |6914L  (4SLLYO
n
o
n
=
L]
W
eco  |cozrt fegt {zepitolsciered
$$0  |C0CHL [69lvl |99vI+0 "
¥E0  1VOTHL [OLWL | L¥PLHO |899KL
9c0  {BOZFL [SLlWL  {L6ZLHO
— oV 1¥LTHL [PLWL {9712L40 "
i
— S¥0  {eIZkl (Sl {@'GLL+0 -
. . . ‘69
B8 (% (88 (58I iecses
5
5
) . . . A
€8 |BETH 1A% 588818 |ceccne
(=]
o
e
T
o
K 8
o (-]
T @
I N
o 4
——{ |#e0  jsszwl izl {L299+0
———{ |eso  jo9zwl [LzzEl {4'SS9+0 |L¥bSSe
N
o
a
i}
———1 |ec0  {L9TvL |¥€THL {SCHOHO [SLYCHO
———1 |ee0  {sLTvl |EvTeL {OPE9+HO 9
—— 1 |eeo  juzv (vl {zZige+0 o
N
F
900 {£8THL [L¥TyL {2T29H0
A 650  188°THL [6¥'T¥L {6'GI9+0 |£68'GLY
0 |66Cvl [ $STHL | £009+0
o
o
e
\ X o
® [ov0 {ozeyl |ogzyl {969g+0 ”
Y [7e]
9 |ovo  Jzzevl feazyl {c99s+o @
D__u -
Sv0  16CEHL [967ZFL {LZHGHO
¥wo  Jiberl  /62vL |0'0¥SHO
w0 |WSPl [Z6Cyl |2668+0
=
I
o
153
m %8 JESERL [ErERL 194teep jescoze
I
Clwo lesert |sigrt lygigro N
ov'0  {eSevl felcvl {£7ZIS+0 %
L]
0v'0  |¥9THL [¥TEHL {9'BOGHO i,
0v'0  {ELTYL [HECHL  {9°006+0 |965°008
N
ov'0  {IBEPL [ISEVL  {Z°98Y+0 3
3
2]
F
o |S¥0  {¥L¥bL [69°CHL {0°LO¥+O [GE6°99%
©o
T |ovo  evwn feren szav+o
o [evo sz juen (vesreo
o
n
I
o
N
[
~
3
F
90 {¥SUPL [BIPVL | SECH+O
£C0 189Kl [¥SKL {ZTer+0 |S1zTey
a8
n
080 {6LWbL [6¥FFL {SZLH+0 =
F
0g'0 - - ‘Sap+
BE=age~d [0:0 {eaest (6ot {IFOFBisevor
050 |88kl |6S¥HL [Svor+0
~
P
I =
o 8
B |6z0  {80°GKL [6L¥bL {L'GRE+D @
T LA
i
o
&8 (35l 18RTR (53T (i
+0 1 1£8°99¢
7€0  |STSHL [TEWHL | 0'CIE+O
920 {£TSYL [¥EWYL | 4'9SE+0 3
d
~
[\
F
220 |Livl |SevhL |veRc+o oviacel
1270 9ISPL {SEWYL | SPEE+D B
(-]
F
£20  {vl'ShL 6L {£'828+0 | L0L'82E
&
@
)
F
820  {ISKL  [€@FFL  {LBICHO |bLOBIE
5
b
a
o L
A
% [ego  Jeoert tosve {900g+0
& |£0  {S0GHL |69l 19°86Z+0 [S¥9'86T
153
B [0 (voerL jLevEL (LveTH0
D__.
2
=3
a
2]
F
£C0  {¥EYPL [19VPL  {9°09Z+0 |GBS09Z
Ze0  |S6PL (19l {6°98Z+0
N
[}
@
N
[}
(]
-
£80  {I8¥HL [4SKL {'952+0
Se0 (8Pl {OSHYL {6'822+0
| - - -gro10 |c99LTT
8 (WU |&HE | 2EEER
o
q
S
5]
[
-
$T0  {LS¥HL [¥SEL  {GS0Z+0 | LhGS0T
220 |¥S¥PL [2TFEL {9'T0Z+0
910 Srvbl |2Vl {L86L+0
(=]
810 6SPPL  {IT¥PL  {L16LHO 2
© b
P 4
[]
o
1\
]
]
€20 {91¥¥L  [€6THL {L'TLI+O |090°TLL
n
2
920 (€0l [LLTHL {0T191+0 P
F
620  {l6'erl |29Vl 19°0SL+0 | SPOOSHE
K ¥ X Q1 b
B8 (BRI (SEE 5 P
0£0  [EBEYL [ESEVL | ¥ri+0 |BEV KLY
G
(-]
E_
080 {ZLSHL |ZHERl {LISSL+0 | 60LSEHS
oco  Jegeyt lecer [rzei+o pri
0€" L9svl fz£5vl (US40 | 29078
. . . . -
TOI=0 %o l=a |00 1E9CYL [eeERL jO'LTI+0 |STOLTH,
080 18S°CYL [BTTKL {L1BL+0
€00 {GSCYL [2ZTHL | #SLIHO 2
£80  1ZG'THL [SUEL | #OLL+O ﬂ
ov'0  {OSTYL [OLSHL {#'901+0 -
~
©
M 680  {SH'SYL [90'CKL {6'G60+0 | 19856
153
n
o
I
o
800 {6CEKL [IOCHL | SEBO+O
3
<
)
2]
F
¥€0  {ECEYL [667TVL {67LL0+0
0£'0  {0C°CYL [00CHL {0°G90+0
¥20  {¥ZTeHL [00TKL {#080+0| £Z09
0
i
¥
F
. . . .
88 (BE S (LD ez
]
n
©
]
o
1N\
S
.m ©
O 400  {28THL [BLTYL {£GZO+O N
g
i
-
200 {eLTHL [ILTHL {11040
zsert legzve loooo+o! oo
Q
<
g
g Q0
= cC
O
o
O =
\ >
kO -+ 5 >
o L = z
n O o
) =
o > = [\ )
= o
2 = - + O >
[ N )
o m [0} o O c
> X [ C o O]
5N & o 2 F
O \O N N O o
0 o o @) Lol




	Arkusze
	Model


